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Plot Sensor and FgRec Data

0. 04 -

0.02

0. 00 -

-0. 02 ~

—0. 04 ~

—o— dFVI
dFVo

5.0

2400 -

2300 -

2200

2100 -

2000

1900 ~

1800

HHHH KK K== = e e e R K

-»%- fz stock_ec

- 1ing: col ['ECC'] is missing
ae 0

1.5 2.0 2.5

3.0 3.5 4.0 4.5
day

5.0

6.6 7

6.4

6.2

6.0

5.8

9.6 7

=—>—  PHB*10%

Warning: col ['PHC'] is missing

1.5 2.0 2.5

3.0 3.5 4.0 4.5
day

5.0

800 -

600 -

400 ~

200

—&— DUC

3.0 3.5 4.0 4.5
day

5.0

500 ~

400 ~

300 ~

200

100 -

—&— FRV

:

1.5 2.0

3.0 3.5 4.0 4.5
day

5.0

0. 64

0. 62

0. 60 -

0. 58 -

0. 56

B

i

—@— FRC

3.0 3.5 4.0 4.5
day

5.0




450

400

350

300

250

200

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

62.5

60.0

57.5

55.0

52.5

50.0

47.5

2500

2000

1500

1000

500

3.5

3.0

2.5

2.0

1.5

1.0

0.5

1.3

1.2

1.1

1.0

0.9

| Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
E A HAX_\\ — :°'°t
e RN TR —
b, L V VY [ S~
\ 1 Vo
e e e N =T
i e anhaig M
. N
\
||
B
—
| — ]
f A VAN A |
= e R TIN
s &
: // N
i -
! I —
= P ==
= N
= N\
- .
- N\,
- .
_,i/ I
é r\k —  optEtRate
= o AN a P~
' V| o

FTTT T

50 7

5

100

125

150

175




Plot [[’ setVIl ETcl’

"setVI| _fgRec’, 'setVI VN, 'slSetVI']]

201 _o IsetVI_ETcI ¥ * ¢ ’ ¢ ’ ’ $
—0— setVl _fgRec :
200 1 —@— siSetV! / :
{ 1
1
1
150 i @ o o
100 E
I A/‘/‘/‘
1
50 : P —

|
%

4

12

14




1

1

0

0

2

2

1

1

1

1

3

3

3

3

2

2

2

Trend plot forP3-4 0

Warning: col ['midFVIraw', "minFVOraw' ] is missing

minFVI
minFVO

. 04

. 02 ~

.00

—@— ETcA

. 98

.96

+

Warning: col ['ET4A1raw', "ETcA1", "ETcA2raw’, "ETcA2'] is missing

1.0

0.2 0.4

0.6 0.8

0.8 -

0.6 1

0.4 -

0.2+

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

200

000 ~

800 -

600 -

400 ~

200

—o—

ECopt

Warning: col ['EC "ECI', "ECO’] is missing

6.8 1

—@— PHopt

Warning: col ['PH "PHI', "PHO’] is missing

1.5 4

1.0 -

0.

0.

9

9

8.5 A

—@— WCperM

. e o e o o e o . e e e e e e e s o 25

Warning: col [’WCdeeraw', "WCperMavg'] is missing

.50

.45

.40 ~

.35 A

.30 p—@

. 25 A

.20 p—@

—0—
+
—0—

minDe | taM
avgDeltaM
stdDeltaM

o—1

30

28 A

26 A

24 -

22 -

20 p—@

€ _o- begM 1
+
——

maxM
minM

@ o—1

. 04 1

.02 1

adjFVOR

.00

. 02 1

. 04

R e Ml e R e T . sttt N

Warning: col [’aleVIRraw’, "adjFVIR, "adjFVORraw' ] is missing

. 64 1

. 62 1

. 60

. 58 1

Warning: col [’FR4’] is missing

58

57 -

56

55 1

54

53 A

52

[, [ S SN T E——

10

15 20

225 -

200

175 A

150

125 -

100

75 -

50 A

®
——
——

postFgEt
postFgEt
postFgEt

raw
avg




100
80

- 60

- 40
20

FgDaily
S &
€

1

© 2.0 -
3.0 -
4.0 -



P3-4_0

1

—e— PPFD

0.8

0.6

Warning: col ['VN'] missing

—@— ETclis

0.8 -
0.6 -
0.4-
0.2
500 -
450 -
400 -
350

300 -
300 -
250 -
200 -
150 -
100 -



ETcP ETcldef ETcl

ETclis ETcPT

ETol ESo

ETbai

T PPFD | pVPD pR

RH

ETcl

|
ETcldef ETcP

|
ETcPT ETclis

|
ESo

1
ETol

|
ETbai

pR

|
pVPD

|
PPFD

T

RH

1.0

0.8

0.6

0.4

-0.2

-0.0



400 A
350 -
£ 300 A
250 A

200 -

1600 -

1400 -

ETol

1200 -

1000 -

®

22 -

20 A

18 1

16

14

62.5
60. 0
57.5 -

- 55.0 1

o
52.5 -
50.0 -

47.5

[ X X J

L )

350 -

325 A

300 -

275 -

250 -

225 A

200 -

[ )]
[}

[ X ()}

200

300
ETcl

T
400

T T
1400 1600
ETol

50 55
RH

60

° ¢® ®

200 250 300 350



hour

100

80

60

- 40

X %
Qg'g 1 .‘\;
2 %\»4- ><-



P3-4

BfiE) | EBIATK (7)) | ERE (EA/H) | XK ERF

09:10 200 130.0 5 FiEA@09:10 (KRF1EEES)
12:05 200 130.0 5 FnHfe12:05 (KREERSS)
23t| 400.0 (2:%) 260. 0 3Z3KEC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant)

P3-4_0, Day=5 (2025-04-03)

V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

99
00

00

259]

oofl|

TargetEC=2300. 0, | TargetSetEC=2000. 0

0.2~

TargetPH=6. 5, TargetSetPH=6.5

908 7

150 -

100 A

Np—o—e

ByWoFv @D

- 400

- 200

1.0

0.8 -

0.6 1

0.4+

0.2~

800
600 -
400 -

200 -

"PPFD_obs’] is missing

A A Warhing:,‘:ol [Al_ob

A

A A

A

25 A

20 A

15

Warning: lcol ['T_obs)/ 'To obs'] is missing

Warning: lcol ['RH obs’, 'RHo obs’] is miss]

0.6 1

0.4+

0.2~

0.0

0.0

0.2 0.4

0.6

0.8

1.

0

cumET (ml/plant)



hour

6:50

7:50

9:40

10:40

11:50

13:20

14:35

100

-0



P3-4

BfiE) | EBIET (FD) | EE (EH/AR) | XK R

06:50 900 50.0 5 1318006 :50 (K FH{EREE)
07:50 900 50.0 | = B3%@07:50 (KRFEERSE)
09:40 900 50.0 = 118009 :40 (KRF{ERLEE)
10:40 900 50.0 5 B1%010:40 (RFERSE)
11:50 900 50. 0 5 Brig@11:50 (FRFERSE)
13:20 900 50.0 5 B2i18@13:20 (KRFAEREE)
14:35 900 50.0 5 Bi%014:35 (REERSE)
=3t 6300.0 (70%) 350.0 3EGHKEC: 1900.0, PH: 6.5

EOREBETK (300. 0) 5FHA (77. 0) AFF, FlREH T % MEEZR S E XER

2RI\ L PRIERE195. 0 ml.

large discrepency for begining water status (68:270.0), set to 109.0 ml.

REX 1 [B] RECEIE TR K.
RER B HEREC/PHIEERE, 7]

VNN
BEFZ

MEARBR TR




FRV (ml plant-1)

2908 1 A
2100 -
2000 - ERVIV » » » X
5 o S O 5 s SO HUSSUSMUUOR ESSUUUUUUNS SO SO——

1800 A

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4 0, Day=4 (2025-04-02)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 192536
40 - - 2000

20 A - 1000

00 zi%? Warning: lcol ['FVI',| "FVO'] missing b0 92

600 4 FRV — ME H#30.0

maxM

-27.5
400 A

-25.0

200 -
-22.5

1.0 20.0
0.8 -
0.6
0.4 -

0.2 A
Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1900. 0 —>— ECB*10%

Warning: lcol ["ECC'] is missing

65| TargetPH=6.5 TargetSetPWs6.5 ___ memiliiaial]

6.0

5 5 Warning: lcol ['PHC'] is missing

800

Bylnit @3 02:37: ET=246 Fg=360.0 Ro=5.0

600 - - 2000

400
- 1000

200 -

& & & & ©
oJ-n:gﬂ-ﬂl!M4. 0

800 40 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

— E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
EXSIG 5 i H 5 5 i H 5 G A B 5 G A B B B G B B B G

e U e < 1

600 17— ByEt @D4 11:45: ET=558 Fg=1936. 0 Ro=nan ————0—9© - 2000

400
- 1000

200 -

P S ——
8004 0 | 1 | 2 [ 3 [ 4 5 | 6 [ 7 [ 8 9 [10] 11121314 ] 15[ 16 ] 17 | 18 | 19 | 20 [ 21 | 22 | 23

— E3 ES ES E3 E3 ES — E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
EXSIG 5 i i 5 g |Z=| B 5 G A B 5 G A B 5 G G B B B G

600 1 ByWoFv @D5 02:37: ET=292 Fg=350.0 Ro=32.0 - 2000

400
- 1000

’ -2 = 28 6 —0—@ *—@ @ @ ®
" i = i 0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
R A A A A A AR A A A A A A A AR A AN AN A AN AN

200 -

0.6

0.4+

0.2~

0.0
1500 4

=

—_—
o | _obs

1000 - —@— PPFD obs

500 -

A A

—_ T

o To_obs

60

40 -

—— RH
o RHo obs'ning: lcol ['RH_obs’] is missing

hour

FRV (ml d-1)

|
=

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



21.6

21. 4 -

21.2 -

21.0 -

21.

21.

21,

21.

21.

21,

21.

21,

21.

21.

56. 0

55.5 -

55. 0 -

54.5 -

60

55 -

50 A

45

40 ~

30 A

25 -

20 A

15

10 ~

—e— MNE
460 560 660 760 860 960
m=480,m FV0=0
L\——j
4é0 4é2 4é4 456 4é8
m=840,m FV0=0
...PJ/]//F.F._N\&.:.E.

8&0 8&5 860
m=475,m FV0=0
T

477.5 480.0 482.5 485.0 487.5
m

475.0

m=405, FV0=0

21.

21,

21.

21.

21.

21.

20.

—0—

M_E

T
405

4%0
m=570,n FV0=0

T
415

21.50 A

21.45 4
21. 40

21.35 A

21. 30 A

—0—

M_E

570

975

580

56

54 -

52 -

50

48 -

—0—

M_W

400

500

660 760
m=480,n FV0=0

800

90

56. 0

55.5 -

55. 0 -

54.5 -

- MW

480

482

484
m

486

488

21.

21.

21.

21.

21.

21.

21.

21.

21.

21,

21.

21.

m=455, FV0=0

50 A

45 -

40 -

35 A

30 -

25 A

20 A

M_E

4é0 465
m=660,n FV0=0

40 -

35 -

30 A

25 -

20 A

T T
660 665 670

m=405,m FV0=0

56

55 -

54

53

52 A

51 1

—— MW

\
H

4%0 4{5
m=570,n FV0=0

405

53 A

52 ~

51 1

50 -

-o— MW

=
7

570 575 580

21.

21.

21.

21.

21.

21.

21.

21,

21.

21.

m=475, FV0=0

60

55 -

50

45 -

40 -

—o— M_E

T T T T T T
475.0 477.5 480.0 482.5 485.0 487.5

m=750,m FV0=0

30

25 -

20

15 4

10

—o— M_E

it

755 7é0
m=455,n FV0=0

56 -

95 A

54

93 A

—o— MW

460 4é5
m=660,n FV0=0

455

52 -

51

50 -

49 -

48 -

-0 MW

660 665 670




m=750, FV0=0
—— MW
51
50
49
48 4
750 755 760

m=840, FV0=0

—— MW
52
51 A
50 A
49 -
48 T T T
840 845 850




hour

6:50

7:50

9:25

10:25

12:25

100

80

- 60

- 40

20



P3-4

Bfig) | JEBATK (FD) | ERE (AR | KR R

06:50 60 50.0 1] B1%@06:50 (KRFERSE)
07:50 60 50.0 1] Bi%@07:50 (FKFERKSE)
09:25 60 50.0 1] 1&£@09:25 (ARFERE)
10:25 60 50.0 1] B318@10:25 (KRFERES)
12:25 60 50.0 | = Bige12:25 (KREERSE)
2it| 300.0 (5%) 250.0 3ZFHKEC: 2000.0, PH: 6.5

LOREBIRTC (90. 0) 578 (77. 0) AFF, Wt T Z BRIERSEXIER
EXIASKPRERES8. 0 ml.

large discrepency for begining water status (76:270.0), set to 115.0 ml.
BE R i3t Bl RECEIRE ER K.

FEREBLFHEREC/PHETLK, FIRERNEERSR



P3-4 0, Day=3 (2025-04-01)

VI,V@1_ﬁy,ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

40 27271 300

20 A

o
o
I
—
——— O
w

- N

o o

S S

FRV (ml d-1)

Warning: lcol [FVI',| "FVO'] missing
0 -0
( FRV — ME K300

(2]
o
1

_____________________________________________________________________________________ -27.5

S
o
1

E

L 25.0 =

N
o
1

FRV (ml plant—1)

-22.5

20.0

2208
TargetEC=2300. 0,  TargetSetEC=2000. 0 —>—  ECB*10%

2100

R e b %

X
X
X
X

1900 ~

Warning: lcol ["ECC'] is missing
1800 +

o 5| _TargetPH=6.5, TargetSetPWs6.5 ___ | | - e PHBH10N |

X
X
X
X
D

6.0

5 5 Warning: lcol ['PHC'] is missing

=T
S
[=}
o

100 A

T
w
o
o

N
S
S
cumET (ml/plant)

~
(S}
1

($4
o
1
T
—_
o
o

ET (ml/hr/plant)

N
(S5}
]

o

1.0

0.8 -

0.6 1

0.4+

0.2~

0.0

—_— 4
o | _obs
—@— PPFD obs

1500 ~

1000

500 -

20 A

0.0 0.2 0.4 0.6 0.8 1.0



21.3

21.2 -

21.1 4

21.0 -

20.9

——

M_E

500

660 760
m=750,n FV0=0

T
800

T
900

21. 30 A
21. 28 A
21. 26 A
21. 24 A
21. 22 A

21.20

——

M_E

750

765
m=570,n FV0=0

T
760

49.5 -

49.0

48.5

48. 0 -

——

M_Ww

570

575

580

21.

21.

21.

21.

21.

20.

20.

21.

21.

21.

21.

21.

21.

m=480, FV0=0

20

15 1

10 4

05 A

00 -

95

90

——

M_E

480

485
m=840,n FV0=0

T
490

20 A

18

16 1

14

12

10

——

M_E

840

845
m=660,n FV0=0

T
850

49.5 -

49.0 -

48.5 -

48. 0

——

M_W

21.

21.

21.

21.

21.

21.

m=570, FV0=0

30 A

28 A

26 -

24 -

22 -

20 A

M_E

570

575 580

51 1

50 A

49

48 ~

—-— MW

T
500

T T T
600 700 800

m=750,m FV0=0

900

50. 5 -

50. 0 -

49.5 -

660

665

670

49.0 -

m=660, FV0=0

21. 30 A

21.28 A
21.26
21.24 4

21.22 A

21.20 A

——

M_E

665
m=480,n FV0=0

660

T
670

50. 50 A

50. 25 A
50. 00 A
49.75 A
49. 50 A

49. 25 ~

——

M_W

485
m=840,n FV0=0

480

T
490

51.5 4

——

M_W

750

755 760

51.0 A

50.5 -

50. 0 A

——

M_W

840 845

850




hour

6:50

7:50

9:05

10:10

11:10

12:50

14:05

100

80

-0



P3-4

BfiE) | EBIET (FD) | EE (EH/AR) | XK R

06:50 60 50.0 5 1318006 :50 (K FH{EREE)
07:50 60 50.0 = B3%@07:50 (KRFEERSE)
09:05 60 50.0 |Z= 131£@09:05 (KRF{ERLEE)
10:10 60 50. 0 5 B1£@10:10 (RFEREE)
11:10 60 50.0 |Z=& Big011:10 CGREERSE)
12:50 60 50.0 | = Bi%@12:50 (REERSE)
14:05 60 50.0 |Z= Bi%014:05 (REERSE)
23t| 420.0 (7% 350.0 3EGHKEC: 1900.0, PH: 6.5

EREBETK (60. 0) 5T (83. 0) A, FIREM T % WEIEIRS X XER

ZRINKPRIEBRL36.0 ml.

large discrepency for begining water status (83:270.0), set to 120.0 ml.

REX 1 [B] RECEIE TR K.
RER B HEREC/PHIEERE, 7]

VNN
BEFZ

MEARBR TR




P3-4 0, Day=2 (2025-03-31)

ET (ml/hr/plant)

1 _ : 312
. VI, VG!FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 8830 300
- 59 —~
i
F 200 —
E
20 _
- 100 &
00 Warning: lcol [FVI',| "FVO'] missing 00
O —m— 0
( ERV — ME 430.0
T 40 1 maxM
= - 27.5
©
ey w
E 201 L 25.0 =
= - 22.5
L
2208 —, 200
TargetEC=2300. 0, TargetSetEC=1900.0 —¢  ECB*10%
2100 A
2000 KA H—H———>¢———X
T e e -
Warning: lcol ["ECC'] is missing
1800 +
55| _TargetPH=6.5 TargetSetPH=6.5 _ | - T P g
WA ——>¢———X
6.0
Warning: lcol ['PHC'] is missing
5.5 1
| "
100 I D
l L 400 £
75 ByWoFv @D5I 02:37: ET=280 Fg=350.0 Ro=29.0 *—o—0—0—9 =
~
1 >~
1 E
50 1 ' L 200
| z
1.0 L 0

osl fE | 5 [BF | 5 | M5 [ BE | f5 [ M | BE |27 | B |3 |5 (B |3 |25 (25 |57 B |[ZR | (25 |35

0.6 1

0.4+

0.2~

|
| _obs
PPFD_obs

60

40 -

RH
[ ] RH_obs
(] RHo_obs

e vpD f
4
0.8 -
0.6 -
0.4 -
0.2
0.0 . . . .

0.0 0.2 0.4 0.6 0.8 1.0



21.3

21.2 -

21.1 4

21.0 -

20.9

-&— M_E

500

660 760
m=660,n FV0=0

T
800

T
900

21. 30 A

21.28

21. 26 A

21.24

21. 22 A

21.20

—&— M_E

665
m=900,n FV0=0

T
670

21. 30 A

21.28

21. 26 A

21.24

21. 22 A

21.20

-@— M_E

900

965
m=600,n FV0=0

910

47.5

47.0 -

46.5

-o— MW

600

605

610

21.

21.

21.

21.

21.

20.

20.

21.

21.

21.

21.

21.

21.

47.

47.

47.

46.

46.

46.

m=480, FV0=0

20

15 1

10 4

05 A

00 -

95

90

M_E

480

4é5 4é0
m=720,n FV0=0

30

28 -

26

24

22

20 A

——

M_E

500

600 700 800 900

m=660,m FV0=0
50 1 —o— MW
25 -
00 -
75
50
25
660 665 670

m=540, FV0=0

22.0 -

21.5 A

21.0

20.5 -

21.

21.

21.

21.

21.

21.

—o— M_E

i

5&5 5%0
m=780,n FV0=0

540

20 A

18

16

14 4

12

10

M_E

7é5 760
m=480,n FV0=0

50. 0 -

49. 8

49.6 -

49. 4

49. 2 -

49.0 -

—— MW

4é5 460
m=720,n FV0=0

480

47.75 ~

47.50 A

47. 25 ~

47. 00 ~

46.75 ~

46. 50 ~

-o— MW

720 725 730

21.

21.

21.

21.

21.

21.

21.

21.

21.

21.

21.

49.

49.

48.

48.

48.

48.

48.

47.

47.

47.

47.

47.

46.

m=600, FV0=0

30

25 ~

20 A

15 4

10

——

M_E

605
m=840,n FV0=0

T
610

30

28 -

26

24 -

22

20

——

M_E

845
m=540,n FV0=0

T
850

——

M_W

540

5&5
m=780,n FV0=0

550

——

M_W

780

785

790




48.

48.

47.

47.

47.

47.

46.

m=840, FV0=0

25 A

00 -

75 -

50 A

25 A

00 -

75 -

—0—

M_W

840

T
845

850

49.

48.

48.

48.

48.

48.

47.

m=900, FV0=0

—0—

M_W

900

T
905

910




hour

9:20

11:15

100

80

- 60

- 40




P3-4

Bria) | GEBRRTIC (FD) | El= (BH/HK) | XS TR

09:20 60 100.0 5 Ri%@09:20 (KRFFEREE)
11:15 60 100.0 = BRige11:15 (REMERER)
=23t 1200 2%) 200.0 $3#KEC: 1560.0, PH: 6.5

EREER IR LR K (0.65 vs 0.55)), AJEER S IAEESREERK
LRGERETC (60. 0) S5714A (182. 0) AFF, FIREH T & MG EIRS & XEMR

BRI\ SLFRGERE33. 0 ml.
BE X i# B ECE IR Hh k.

RER R HEREC/PHIESR K, AT RERIMAREVR K




P3-4_0, Day=1 (2025-03-30)

L e e e =S —————— e e e —— i
VI, VBBRV. ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2000

75 4 - 1500 T

50 A - 1000

25 3 - 500
184 Warning: lcol ["FVI', "FVO'] missing 26362
00 00

(¢ FRV —— ME #30.0

N
o
1

maxM

FRV (ml plant—1)
N
S
1

2208
TargetEC=1200. 0,  TargetSetEC=1560. 0 —— ECBx10% [}

2000 - H———H——————¢—X

1800

1600 - Warning: lcol ["ECC'] is missing

B. 5 mmm R e e

6.0

5 5 Warning: lcol ['PHC'] is missing

=

200

T
S
o
o

cumET (ml/plant)

ByWoFv @D5 02:37: ET=262 Eg=200.0 Ro=19.0

150 A

100 A - 200

ET (ml/hr/plant)

a1

o

I|

L 4
SR S R NI 1 J S ——

1.0

0.8 -

0.6 1

0.4+

0.2~

0.0

—_— 4
o | _obs

—@— PPFD_obs

1500 ~

1000

500 -

e v P

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0



21.3

21.2 -

21.1 4

21.0 -

20.9

M_E

T T T T
500 600 700 800 900

21. 20 A

21.18
21.16 A
21.14 +

21.12 ~

21.10

m=660,m FV0=0
—o—

665 6%0
m=900,n FV0=0

21. 30 A

21.28
21. 26 A
21.24

21. 22 A

21.20

—0— ME

965 9%0
m=600,n FV0=0

49. 4

49. 2 -

49.0

48. 8

48. 6 -

48. 4

-— MW

i

605 610

m=480, FV0=0

21.10 A

21.05 A

21.00 A

20. 95 A

20. 90 A

M_E

4é5 4é0
m=720,n FV0=0

480

22.0 A

21.5 -

21.0 A

20.5 A

20. 0 ~

—o— ME

i

720.0

T T T
725.0 727.5 730.0

m

T
722.5

52 -

51

50 -

49 -

48 -

47 -

—e—

M_W

600 700 800 900

m=660,m FV0=0

500

48. 4

48. 2

48.0 A

47.8 -

47.6

47.4

- MW

660 665 670

m=540, FV0=0
21. 20 A
21.18 +
21.16
21.14 +
21.12 +
21.10 M_E
T T T
540 545 550
m=780,m FV0=0
—o— ME
22.0 -
21.5 -
000000000000 09
21.0 -
20. 5
T T T
780 785 790
m=480,m FV0=0
52. 25 A
—o— MW
52. 00 A
51.75 A
51. 50 A
51.25
51.00
480 485 490
m=720,m FV0=0
47.6 - MW
47. 4
47.2 -
47.0 -
46. 8
46. 6
720.0 722.5 725.0 727.5 730.0

m

21.

21.

21.

21.

21.

21.

22.

21.

21.

20.

50.

50.

50.

50.

49.

48.

48.

47.

47.

47.

47.

m=600, FV0=0
20
18
16
14
12
04 —o— IE
600 605 610
m=840,m FV0=0
—o— ME
0 .
5 .
000000000000 00
0 .
5 .
840 845 850
m=540,m FV0=0
—— MW
6 .
4 4
2 .
0 .
8 .
540 545 550
m=780,m FV0=0
, ] —— MW
0 -
8 .
6 .
4 .
2 .
780 785 790




m=840, FV0=0

48. 75 A

48. 50 ~

48. 25 ~

48. 00 ~

47.75 ~

47.50 A

——

M_W

840

T
845

850

m=900, FV0=0

49. 4 A

49. 2 -

49.0 A

48. 8 A

48.6

48. 4 A

—0—

M_W

900

T
905

910




